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1. EDNTEEYORERUEE

(il ¥ [ kg

PRZ 36 1,293,120
151 512,740
BETTAF v I HH 25,590
< 18,140
ARLT 19,220
HE< 9 13,000
BE RS 0
ALY 0
&< 14,590
T ARG T, 227V — NP R OFiiae< 9 205,580
FLE 45,700
IVESH 217,900
(=LY 364,810
1375 BEHED) 281,290
AR ER Y 2,897,590
e 5,909,270
2. BERR D RBIRIL

AR H i 3% 4 AR H SRR R
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3. BADENAEBOHE

o H TR A

643 A 28H 568,976 m




4. HTFAKOHE

BN NO.1
WIETE B BT e W T E SR
47 4R 5H9H 6H6H TH4H 8H1H 9H 10H 11H 12H 1A 2H 3H

IKSEAA YRS - - 6.4 6.5 6.8 6.5 6.5 A1l
ERARE R mS/m - 12 17 12 15 12 H 10m]
WAL A A B E mg/L - 2.3 2.8 2.9 2.4 2.5 A1
TS A B IR Ba/kg - Nt BN s RN ] N BNt A1l
BRI A mg/L 0.003LLF - - 0.0003 A - - F4m]
BT mg/L. BrEhene - - Nt - - 4]
& mg/L 0.0LLLF - - 0.00 1At - - AFA[E]
A /=N mg/L. 0.05L4F - - 0.005A1i5 - - 4]
= mg/L 0.01LAF - - 0.00 1A - - AL
FRKER mg/L. 0.0005L4 F - - 0.0005A - - 4]
TV LK ER mg/L BtEnipnze - - NS - - 4[]
PCB mg/L. MRHE 7N e - - Nt - - 4]
D A=R= & mg/L 0.02LLF - - 0.00 LA it - - F4A]
DUt (1 22 mg/L 0.002LL F - - 0.00027if5 - - AR
L2-Y/uaxiy mg/L 0.004LLF - - 0.0002A4 i - - F4A]
L1-YZaraxTFLy mg/L 014 - - 0.001 A3 - - 4]
L,2-YZuuxTFLyv mg/L 0.04LLF - - 0.00 1A it - - AFA[E]
LL,I- Ny Zaoax=xy mg/L 1LLF - - 0.00 1 At - - F4m]
LL2-rYZumxziy mg/L 0.006LL - - 0.0002 A4 i - - F4m]
R A=R== mg/L 0.01LLF - - 0.001 A3 - - 4]
FRhS/npxFlLy mg/L 0.01L4F - - 0.001 A3 - - AF4[H]
L,3-Yruura~ty mg/L. 0.002L4 - - 000024 - - 4]
RN mg/L 0.006LL T - - 0.0005A7 - - 4[]
D mg/L. 0.003LL - - 0.0003 A - - 4]
FARTNT mg/L. 0.02LLF - - 0.00 1A it - - AFA[E]
N mg/L 0.01L4TF - - 0.00 1 At - - AEA[E]
L mg/L 0.01L4F - - 0.001 A3 - - F4A]
TR MEZE 38 M DN R R PE 22 3R mg/L 10LLF - - 2.4 - - HEA[H]
o mg/L 0.8L4F - - 0.10 - - HE4[A]
E5 % mg/L LT - - 0. 147 - - Al
1,4-UA &9 mg/L 0.05LLF - - 0.005 A i - - AFA[E]
JmupxFL mg/L 0.002LLF - - 0.0002A4 - - 4]
BA KX A pg-TEQ/L 1L - - 0.041 - - HEA[E]
IKAE m - - - 16.76 - - H4[A]




B S NO.2

I EE H HA{L FEYEAE gl T E B
440 5H9H 6H6H TH4H 8HI1H 9H 104 114 124 1A 24 3H
IRSFBAA L YRE - - 7.3 7.2 7.4 7.1 7.1 A 1[a]
BRI mS/m - 29 27 31 26 26 ALE
WA A4 R mg/L - 4.6 4.5 4.5 4.4 4.4 A1l
R R R Ba/kg - N NS BN s BN s NS JERIE]
BRI YL mg/L 0.003LLF - - 0.0003 ¥ - - 4[]
ELT v mg/L BtEhnze - - BN s - - 4[]
LA mg/L 0.01LLF - - 0.001 A3 - - 4]
AV IZA=N mg/L 0.05LLF - - 0.005 A i - - F4A]
fits& mg/L. 0.01BAF - - 0.005 - - |
VISR mg/1. 0.000524 T - - 0.0005A5 - - FE4[A]
7L VKSR mg/L. SR L - - N ] - - 4]
PCB mg/L BtEnRnze - - BN s - - 4]
DYA=2=0 1 mg/L 0.02L4 T - - 0.00 1 At - - AEA[E]
W& S mg/L 0.002LLF - - 0.0002 A4 i - - F4A]
L,2-Y7unxH mg/L 0.004LLF - - 0.0002A4 i - - AEA[E]
L,1-YZuauxFLyv mg/L 0.1L4F - - 0.00 LA it - - 4]
L2-Y/mruxTFLy mg/L 0.04LLF - - 0.001 A3 - - 4]
L,1-hyZmuxzxy mg/L LT - - 0.00 1A it - - 4]
L1,2-hUZmouaxxy mg/L 0.006LL - - 0.0002A4 i - - AEA[E]
INUR/A=8=1== S P mg/L 0.01L4F - - 0.001 A3 - - AF4[H]
FhIr7uuxFL mg/L. 0.01BAF - - 0.001 A3 - - 4]
L3-YrZrrrary mg/L 0.002LLF - - 0.0002A4 i - - F4A]
F T A mg/L. 0.006LL T - - 0.0005A77i - - 4]
Do g mg/L 0.003LLF - - 0.0003 A7 - - F4A]
FAR I NT mg/L 0.02LLF - - 0.001 A3 - - 4]
NP mg/L 0.0124F - - 0.001 A3 - - F4A]
L mg/L 0.01LLF - - 0.001 A3 - - 4]
M 2 38 K OV i et 22 3R mg/L 10LL T - - 0.25 - - HEA[E]
o mg/L 0.8LLF - - 0.10 - - AFE4[A]
EES mg/L LR - - 0. LA - - £E4[H]
L4~ x4 mg/L. 0.05L4F - - 0.005A1i5 - - 4]
sopTFLy mg/L 0.00224F - - 0.0002431 - - FAla]
HAFx VM pe-TEQ/L 1L - - 0.042 - - 4[]
KAV m - - - 30.04 - - 4[]




B S NO.3

I EE H HA{L FEYEAE gl T E B
440 5H9H 6H6H TH4H 8HI1H 9H 104 114 124 1A 24 3H
IRSFBAA L YRE - - 7.1 7.0 7.1 7.0 7.0 A 1[a]
ERAGER mS/m - 9.9 9.9 10 9.4 10 A1E]
WA A4 R mg/L - 3.0 3.0 3.1 3.0 3.1 A1l
R R R Ba/kg - BN s NS BN s BN s NS JERIE]
BRI YL mg/L 0.003LLF - - 0.0003 ¥ - - 4[]
ELT v mg/L BtEhnze - - BN s - - 4[]
LA mg/L 0.01LLF - - 0.001 A3 - - 4]
A= mg/L 0.05LLF - - 0.005 A i - - F4A]
it mg/L. 0.01LAF - - 0.003 - - G|
VISR mg/1. 0.000524 T - - 0.0005A5 - - FE4[A]
7L VKSR mg/L. SR L - - N - - 4]
PCB mg/L BtEnRnze - - BN s - - 4]
DYA=2=0 1 mg/L 0.02L4 T - - 0.00 1 A - - AEA[E]
W& S mg/L 0.002LLF - - 0.0002 A4 i - - F4A]
L,2-Y7unxH mg/L 0.004LLF - - 0.0002A4 i - - AEA[E]
L,1-YZuauxFLyv mg/L 0.1L4F - - 0.00 1A it - - 4]
L2-Y/mruxTFLy mg/L 0.04LLF - - 0.001 A3 - - 4]
LL1I-hyZuenxzxy mg/L LT - - 0.00 1At - - 4]
L1,2-hUZmouaxxy mg/L 0.006LL - - 0.0002A4 i - - AEA[E]
INUR/A=8=1==0 S P mg/L 0.01L4F - - 0.001 A3 - - AF4[H]
FhIr7uuxFL mg/L. 0.01BAF - - 0.001 A3 - - 4]
L3-YrZrrrary mg/L 0.002LLF - - 0.0002 A4 i - - F4A]
F T A mg/L. 0.006LL T - - 0.0005 77 - - 4]
Do g mg/L 0.003LLF - - 0.0003 A i - - F4A]
FARINT mg/L 0.02LLF - - 0.001 A5 - - 4]
NP mg/L 0.0124F - - 0.001 A3 - - F4A]
L mg/L 0.01LLF - - 0.001 A3 - - 4]
AHPRPE 2 R e OV R E 2 R mg/L 10LAF - - 0.03 i - - £E4[H]
o mg/L 0.8LLF - - 0.09 - - AFE4[A]
EES mg/L LR - - 0. LA - - £E4[H]
L4~ x4r mg/L. 0.05L4F - - 0.005A1i5 - - 4]
sopTFLy mg/L 0.00224F - - 0.0002431 - - FAla]
A Fx VM pe-TEQ/L 1L - - 0.041 - - 4[]
KAV m - - - 21.84 - - 4[]




B S NO.4

I EE H HA{L FEYEAE gl T E B
440 5H9H 6H6H TH4H 8HI1H 9H 104 114 124 1A 24 3H
IKFBAA L YLSE - - 7.2 7.4 7.4 7.2 7.2 A 1=
ERBER mS/m - 12 12 11 11 11 A1E]
WAL A AP mg/L - 1.6 1.6 1.6 1.6 1.6 A 1=
TS B R Ba/kg - BN s NS BN s BN s NS JERIE]
BRI YL mg/L 0.003LLF - - 0.0003 ¥ - - 4[]
ELT v mg/L BtEhRnz e - - BN s - - 4[]
LA mg/L 0.01LLF - - 0.001 A3 - - 4]
AV IZA=N mg/L 0.05LLF - - 0.005 A i - - F4A]
it mg/L. 0.01LAF - - 0.001 - - G|
VISR mg/1. 0.000524 T - - 0.0005A5 - - FE4[A]
7L VKSR mg/L. SR L - - N ] - - 4]
PCB mg/L BtEhRnz e - - BN s - - 4]
DYA=2=8 1 mg/L 0.02L4 T - - 0.00 1 At - - AEA[E]
W& S mg/L 0.002LLF - - 0.0002 A4 i - - F4A]
L,2-Yzuaux=iy mg/L 0.004LLF - - 000024 - - 4]
L,1-YZuauxFL v mg/L 0.1L4F - - 0.00 LA it - - 4]
L2-Y/muxTFlLy mg/L 0.04LLF - - 0.001 A3 - - 4]
LL,1-hY ooy mg/L 1LLF - - 0.001 A3 - - AF4[H]
L1L,2-hUZmouxxy mg/L 0.006LL - - 0.0002A4 i - - AEA[E]
INUR/A=8=1==0 S P mg/L 0.01LAF - - 0.001 A3 - - AF4[H]
FhrIFr7uuxFL mg/L. 0.01BAF - - 0.001 A3 - - 4]
L3-YrZrrrary mg/L 0.002LLF - - 0.0002A4 i - - F4A]
F T A mg/L. 0.006LL T - - 0.0005A77i - - 4]
Do g mg/L 0.003LLF - - 0.0003 A7 - - F4A]
FARINT mg/L 0.02LLF - - 0.001 A3 - - 4]
NP mg/L 0.0124F - - 0.001 A3 - - F4A]
L mg/L 0.01LLF - - 0.001 A3 - - 4]
il 28 38 X OV i et 22 3R mg/L 10LL T - - 0.07 - - HEA[E]
o mg/L 0.8L4F - - 0.09 - - AFE4[A]
ESES mg/L LR - - 0. LA - - £E4[H]
L4~V xH mg/L. 0.05L4F - - 0.005A1i5 - - 4]
sopTzFLy mg/L 0.00224F - - 0.0002431 - - FAla]
HAFx VM pe-TEQ/L 1L - - 0.050 - - 4[]
KL m - - - 8.28 - - F4[A]




R KERKE Y b

HIEE H BT LA WEH T E B
440 5H9H 6H6H TH4H 8HI1H 9H 104 114 124 1A 24 3H
IKFBAA L YLSE - - 8.3 7.6 8.2 7.4 8.0 A 1=
ERBER mS/m - 70 68 85 71 91 A1E]
WAL A AP mg/L - 8.5 9.0 8.2 8.7 8.4 A 1=
TS B RS Ba/kg - NS NS BN s NS N s JERIE]
BRI YL mg/L. 0.003LL - - 0.0003 77 - - #E4[R]
BTV mg/L BtEhRnze - - N - - 4]
LA mg/L 0.01LLF - - 0.001 355 - - 4]
A= mg/L 0.05LLF - - 0.005 A i - - F4A]
it mg/L. 0.01LLF - - 0.004 - - G|
VISR mg/1. 0.0005L4 T - - 0.0005A5 - - FE4[A]
7L VKSR mg/L. SR L - - N - - 4]
PCB mg/L SN - - R - - GRE
DA=2=8 % mg/L 0.02L4 T - - 0.00 1 At - - AEA[E]
W& S mg/L 0.002LLF - - 0.0002A4 i - - F4A]
L,2-Yzuauxiy mg/L 0.004LLF - - 000024 - - 4]
L,1-YZuauxFLv mg/L 0.1L4F - - 0.00 1A it - - 4]
L,2-Y/mruxTFlLy mg/L 0.04LLF - - 0.001 A3 - - 4]
LL1I-hYyZvemxziy mg/L LT - - 0.00 LA it - - 4]
L1,2-hUZmouaxxy mg/L 0.006LL - - 0.0002A4 i - - AE4[E]
INUR/A=8=1==0 S P mg/L 0.01LAF - - 0.001 A3 - - AF4[H]
FhIr7uuxFL mg/L. 0.01BAF - - 0.001 A3 - - 4]
L3-YrZrurary mg/L 0.002LLF - - 0.0002 A4 i - - F4m]
F T A mg/L. 0.006LLTF - - 0.0005 77 - - 4]
Do g mg/L 0.003LLF - - 0.0003 A i - - F4m]
FARINT mg/L 0.02LLF - - 0.001 A3 - - 4]
NP mg/L 0.01L4F - - 0.001 A3 - - F4A]
L mg/L 0.01LLF - - 0.001 A3 - - 4]
Tl 28 38 K OV Al et 22 3R mg/L 10LL T - - 3.3 - - AEA[E]
o mg/L 0.8L4F - - 0.07 - - AFE4[A]
EES mg/L LR - - 0. 1Al - - FE4[A]
L4~V x9r mg/L. 0.05L4F - - 0.005A1i5 - - 4]
sopTFLy mg/L 0.00224F - - 0.0002431 - - Al
A Fx VM pe-TEQ/L 1L - - 0.043 - - 4[]




5. & AR O K ORIE
Rk

Wi Wi WER W
4H4H 5H9H 6H6H TH4R 8H1H 9H 10H 118 12H 1A 2A 3A
IKSRAA YL - 7.6 7.1 7.5 7.2 7.5 A1lE
ERARER mS/m 720 980 840 1000 1100 A1l
WAL AA R mg/L 2600 3500 2500 3500 3800 A 1=
AL R R mg/L 5 7 2 5 6 A1lE
I R mg/L 1A 1A 1A 1A JES A 1E]
IR mg/L 9.4 8.0 8.5 7.8 7.8 HA1lEl
KIGE R 18/ cnit 100 | 1002K7M | 1004 | 1004 | 100K HA1lEl
TP i Ba/kg A A A AR EN s A L]
I e~ AR S A
pISiE= mg/L - - - - - £E2[A]
B I IS mg/L - - - - - £E2[H]
Tx/)—/VHH mg/L - - - - - HE2[H]
A mg/L - - - - - £E2[H]
WG A& mg/L - - - - - £E2[n]
TAMRVESR S A i mg/L - - - - - £E2[n]
VR~ A A mg/L - - - - - 420
VAN 5 mg/L - - - - - £E2[n]
BREAR mg/L - - - - - AE2[H]
NN mg/L - - - - - AE2[H]
BTV mg/L - - - - - AE2[H]
£ mg/L - - - - - 2]
X A=A mg/L - - - - - HE2[H]
[iES mg/L - - - - - 4E2[A]
FRIKER mg/L - - - - - HEOJF]
TRV KER mg/L - - - - - 2]
PCB mg/L - - - - - HE2[A]
A= % mg/L - - - - - 2[R
DAL R mg/L - - - - - F2al
L,2-YZmnxg mg/L - - - - - 2[R
L1-YZopxF Ly mg/L - - - - - 2]
VAL, 2~V ruxF L mg/L - - - - - HE2[A]
,2-Y/maxF Ly mg/L - - - - - HE2[A]
LL,1I-hYZopx=& mg/L - - - - - AE2[H]
,,2-hYZopx=& mg/L - - - - - AE2[H]
M) ZopxgFL mg/L - - - - - HE2[n]
FhIFrsppFLo mg/L - - - - - AE2[H]
1,3-Y /oo ra~ly mg/L - - - - - AE2[H]
FUT A mg/L - - - - - AE2[A]
D aVa mg/L - - - - - AE2[H]
FF R HNT mg/L - - - - - AE2[H]
Nv mg/L - - - - - AE2[H]
L mg/L - - - - - HE2[A]
T A 1 2 S M OV P 2 % mg/L - - - - - 4E2[A]
BNCE mg/L - - - - - £E2[n]
[EES mg/L - - - - - £E2[n]
1,4-UAFH mg/L - - - - - AE2[H]
VA=3=1=0 mg/L - - - - - AE2[H]
FA A F R pg-TEQ/L - - - - - #E2A




FUBEIVIN

I H HfT I EAE
4H4H 5H9H 6H6H THAH 8H1H 9H 10H 11H 12H 1H 24 34
IKBAFRRE - 7.5 7.5 7.3 7.6 7.9 H1lE
RN R mS/m 490 600 700 720 480 Al
HAL A mg/L 1100 1400 1700 1800 1100 A1
AR R SR mg/L LA JEST LA 1A 1 A1
RS & mg/L LA 1A LAt 1A LA J1E
AFRR R B mg/L 7.8 6.6 8.2 6.8 6.9 A1l
KIS BERER {8/ cnl 1004 | 1004 | 10040 | 1007 | 10047 H1lE
TRV R Ba/kg AR N 3 A AH AR Al
I ST AN AT
BISliE mg/L - - - - - AE2[a]
B IIESE|  me/L - - - - - AFE2[A]
7z /)—/VER mg/L - - - - - AE2[E]
A = mg/L - - - - - Q]
W E A & mg/L - - - - - AE2[a]
VR Sk AT mg/L - - - - - AE2[H]
WS~ T A mg/L - - - - - AE2[A]
VA=FN-¥ <} 3 mg/L - - - - - AE2[A]
EHXREAE mg/L - - - - - 4E2la]
RIT A mg/L - - - - - AE2[H]
BT mg/L - - - - - HE2[A|
it} mg/L - - - - - AE2[H]
WA /A= mg/L - - - - - HE2[A]
i mg/L - - - - - AE2[H]
HRIKER mg/L - - - - - AE2[A]
T VR ILIKER mg/L - - - - - AE2[A]
PCB mg/L - - - - - FE2[0]
PA==5 % % mg/L. - - - - - HE2[m]
T AR mg/L - - - - - AE2[A]
L,2-Y/7nnxi v mg/L - - - - - A2[m]
1, 1-YZupnxFLv mg/L - - - - - H2[a]
VA-L2-VZunzF L mg/L. - - - - - AE2[A]
1,2-YZupxF L mg/L - - - - - H2[a]
1,1,1I-hV 7=k mg/L. - - - - - HE2[m]
L,L,2-FYrmuxs mg/L - - - - - 2[]
NUEA==5= a2 mg/L. - - - - - AE2[A]
FhrIrunTFL mg/L - - - - - 20
1,3-Y7nmnra~y mg/L. - - - - - HE2[A]
FUT L mg/L - - - - - AFE2[a]
P a4 mg/L - - - - - AE2[A]
FF B NT mg/L - - - - - H2[a]
NP mg/L. - - - - - AE2[A]
Ly mg/L - - - - - H2[H]
TP PR 28 4 K OVl fi e 2 S mg/L - - - - - AE2[H]
S0 mg/L - - - - - AFE2[a]
ESES mg/L - - - - - #E2[A]
L,4-UFF 4 mg/L - - - - - AE20A]
/=0 ==t o V4 mg/L - - - - - AE2[A]
HA AT 8 pg-TEQ/L - - - - - H2[a]




6. B—RF/LDORAIRDL

prEnyE TR
ey WL
7. ZERKRSRER
WK | g L i
4H4H 4H11H 4H18H 4H25H 5H2H 5H9H 5H16H 5H23H 5H30H 6H6H 6H13H 6H20H 6H27H

1 1 Sv/h 0.072 0.064 0.069 0.066 0.061 0.066 0.075 0.063 0.063 0.063 0.068 0.062 0.068 I 1A
2 1 Sv/h 0.046 0.049 0.052 0.049 0.044 0.048 0.047 0.043 0.048 0.051 0.045 0.052 0.049 J 1A
3 1 Sv/h 0.058 0.053 0.061 0.056 0.052 0.067 0.058 0.052 0.065 0.052 0.055 0.055 0.057 I 1]
4 1 Sv/h 0.047 0.045 0.048 0.052 0.052 0.052 0.052 0.046 0.044 0.045 0.052 0.045 0.052 I 1A
5 1 Sv/h 0.051 0.044 0.053 0.049 0.052 0.046 0.050 0.050 0.049 0.049 0.049 0.047 0.047 1A
6 1 Sv/h 0.047 0.043 0.042 0.047 0.041 0.051 0.049 0.040 0.044 0.042 0.045 0.040 0.045 1A
7 1 Sv/h 0.046 0.051 0.043 0.045 0.046 0.044 0.041 0.042 0.045 0.045 0.044 0.044 0.047 1A
8 1 Sv/h 0.045 0.049 0.041 0.048 0.042 0.050 0.045 0.042 0.049 0.043 0.054 0.043 0.042 1A
9 1 Sv/h 0.048 0.043 0.049 0.046 0.040 0.048 0.048 0.043 0.046 0.046 0.048 0.046 0.041 1A
10 1 Sv/h 0.048 0.052 0.044 0.055 0.053 0.054 0.064 0.059 0.045 0.048 0.052 0.057 0.051 1A
11 1 Sv/h 0.048 0.053 0.046 0.044 0.056 0.047 0.049 0.056 0.048 0.052 0.053 0.047 0.048 1A

WAl | WER \ Wi

7H4H | 7A11H | 7H18H | 7H25H | 8H1H | 8A8H | 8A15H | ™gHoop | ®gH 29

1 1 Sv/h 0.057 0.069 0.061 0.068 0.069 0.071 0.078 0.08 0.08 1A
2 1 Sv/h 0.046 0.054 0.046 0.053 0.053 0.046 0.058 0.06 0.05 1A
3 1 Sv/h 0.061 0.068 0.062 0.062 0.068 0.058 0.060 0.07 0.07 1A
4 1 Sv/h 0.049 0.053 0.049 0.049 0.051 0.049 0.057 0.07 0.06 1A
5 1 Sv/h 0.051 0.052 0.051 0.051 0.052 0.047 0.050 0.07 0.07 1A
6 1 Sv/h 0.045 0.045 0.046 0.046 0.045 0.042 0.045 0.05 0.06 1A
7 1 Sv/h 0.047 0.046 0.039 0.047 0.047 0.045 0.048 0.06 0.06 1A
8 1 Sv/h 0.044 0.044 0.044 0.045 0.042 0.043 0.049 0.05 0.06 1A
9 1 Sv/h 0.046 0.047 0.045 0.047 0.043 0.044 0.046 0.05 0.05 1A
10 1 Sv/h 0.052 0.053 0.048 0.056 0.060 0.056 0.058 0.06 0.05 1A
11 1 Sv/h 0.048 0.052 0.052 0.056 0.050 0.048 0.047 0.05 0.07 1A
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